
Minusrechnen (bis 20 000)

Aufgabe 1

1. 17 440 - 14 875 =   

2. 12 235 - 10 189 =   

3. 14 921 - 12 688 =   

4. 9 905 - 7 074 =   

5. 9 112 - 5 820 =   

6. 19 688 - 1 341 =   

7. 9 127 - 8 919 =   

8. 9 070 - 4 523 =   

9. 3 866 - 2 656 =   

10. 10 194 - 8 340 =   

Aufgabe 2

1. 17 580 - 5 165 =   

2. 16 390 - 3 446 =   

3. 11 891 - 10 649 =   

4. 1 862 - 1 470 =   

5. 3 796 - 3 446 =   

6. 17 197 - 10 114 =   

7. 17 239 - 3 622 =   

8. 5 337 - 3 538 =   

9. 19 621 - 5 001 =   

10. 10 513 - 1 740 =   

Aufgabe 3

1. 18 825 - 6 909 =   

2. 17 597 - 7 838 =   

3. 8 903 - 2 655 =   

4. 17 204 - 5 049 =   

5. 9 708 - 1 052 =   

6. 19 824 - 8 706 =   

7. 12 174 - 1 726 =   

8. 9 982 - 1 308 =   

9. 3 332 - 3 157 =   

10. 19 905 - 16 683 =   

Aufgabe 4

1. 15 468 - 3 427 =   

2. 12 253 - 3 443 =   

3. 13 187 - 11 834 =   

4. 16 496 - 10 640 =   

5. 13 695 - 1 529 =   

6. 14 694 - 6 863 =   

7. 8 461 - 1 319 =   

8. 14 723 - 6 898 =   

9. 11 009 - 3 049 =   

10. 19 676 - 10 298 =   
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Minusrechnen (bis 20 000)
| ANTWORTEN

Aufgabe 1

1. 17 440 - 14 875 =  2 565

2. 12 235 - 10 189 =  2 046

3. 14 921 - 12 688 =  2 233

4. 9 905 - 7 074 =  2 831

5. 9 112 - 5 820 =  3 292

6. 19 688 - 1 341 =  18 347

7. 9 127 - 8 919 =  208

8. 9 070 - 4 523 =  4 547

9. 3 866 - 2 656 =  1 210

10. 10 194 - 8 340 =  1 854

Aufgabe 2

1. 17 580 - 5 165 =  12 415

2. 16 390 - 3 446 =  12 944

3. 11 891 - 10 649 =  1 242

4. 1 862 - 1 470 =  392

5. 3 796 - 3 446 =  350

6. 17 197 - 10 114 =  7 083

7. 17 239 - 3 622 =  13 617

8. 5 337 - 3 538 =  1 799

9. 19 621 - 5 001 =  14 620

10. 10 513 - 1 740 =  8 773

Aufgabe 3

1. 18 825 - 6 909 =  11 916

2. 17 597 - 7 838 =  9 759

3. 8 903 - 2 655 =  6 248

4. 17 204 - 5 049 =  12 155

5. 9 708 - 1 052 =  8 656

6. 19 824 - 8 706 =  11 118

7. 12 174 - 1 726 =  10 448

8. 9 982 - 1 308 =  8 674

9. 3 332 - 3 157 =  175

10. 19 905 - 16 683 =  3 222

Aufgabe 4

1. 15 468 - 3 427 =  12 041

2. 12 253 - 3 443 =  8 810

3. 13 187 - 11 834 =  1 353

4. 16 496 - 10 640 =  5 856

5. 13 695 - 1 529 =  12 166

6. 14 694 - 6 863 =  7 831

7. 8 461 - 1 319 =  7 142

8. 14 723 - 6 898 =  7 825

9. 11 009 - 3 049 =  7 960

10. 19 676 - 10 298 =  9 378
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